45

(2) REBIEHAE
RG>—A

LTI EDEREITEEEA

4%55F 52797425

FBEH | D | oy | o AL b | EARIGIER
R G 23 - 050 50 38 M12 X 65 X P=1.75
R G 23 - 075 75 63 M12X 90X P=1.75 TL50 - TM50
RG 23 - 100 23 100 88 M12 X115 X P=1.75 27 TH50 - TB50
RG 23 - 125 125 113 M12 X140 X P=1.75
R G 26 - 050 50 38 M12 X 65 X P=1.75
R G 26 - 075 75 63 M12 X 90 X P=1.75

26 27 TF50
RG 26 - 100 100 88 M12 X115 X P=1.75
RG 26 - 125 125 113 M12 X140 X P=1.75
R G 28 - 050 50 38 M12 X 65 X P=1.75
R G 28 - 075 75 63 M12 X 90 X P=1.75 TL60 - TM60
RG 28 - 100 28 100 88 M12 X115 X P=1.75 27 TH60 - TB60
RG 28 - 125 125 113 M12 X140 X P=1.75
R G 31 -050 50 38 M12 X 65 X P=1.75
R G 31 - 075 75 63 M12 X 90 X P=1.75
31 27 TF60

RG 31-100 100 88 M12 X115 X P=1.75
RG 31-125 125 113 M12 X140 X P=1.75
R G 36 - 050 50 38 M12X 65 X P=1.75
R G 36 - 075 75 63 M12 X 90 X P=1.75 TF70 - TL70 - TM70
R G 36 - 100 36 100 88 M12 X115 X P=1.75 27 TH70 - TB70
RG 36 - 125 125 113 M12 X140 X P=1.75




